## ON A BIVARIATE KIND OF q-BERNOULLI POLYNOMIALS

#### P. NJIONOU SADJANG, W. KOEPF, M. MASJED-JAMEI

(Accepted at the 8th Meeting, held on November 24, 2023)

A b s t r a c t. Two bivariate kinds of q-Bernoulli polynomials are introduced and several of their properties are stated and proved.

AMS Mathematics Subject Classification (2020): 11B68, 05A30, 33D70. Key Words: Appell polynomial set, Bernoulli polynomials and numbers, *q*-calculus.

### 1. Introduction

The Appell polynomials  $A_n(x)$  defined by

$$f(t)e^{xt} = \sum_{n=0}^{\infty} A_n(x) \frac{t^n}{n!},$$
(1.1)

where f is a formal power series in t, have found remarkable applications in different branches of mathematics, theoretical physics and chemistry [1, 8, 14, 18]. A special case of Appell polynomials are Bernoulli polynomials  $B_n(x)$ , generated by  $f(t) = t/(e^t - 1)$  in (1.1). Also, Bernoulli numbers  $B_n := B_n(0)$  are of considerable importance in number theory, combinatorics and numerical analysis. They are represented as

$$\frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n \frac{t^n}{n!} \qquad (|t| < 2\pi),$$

or by the recurrence relation

$$\sum_{k=0}^{n} \binom{n+1}{k} B_{k} = 0 \text{ for } n \ge 1 \text{ and } B_{0} = 1.$$

Bernoulli numbers are directly related to several combinatorial numbers such as Stirling, Cauchy and harmonic numbers. For example, except  $B_1$  we have

$$B_n = (-1)^n \sum_{m=0}^n \frac{(-1)^m m!}{m+1} S_2(n,m), \qquad (1.2)$$

where

$$S_2(n,m) = \frac{1}{m!} \sum_{j=0}^m (-1)^j \binom{m}{j} (m-j)^n,$$

denote the second kind of Stirling numbers [5, 7] with  $S_2(n,m) = 0$  for n < m.

They have found various extensions such as poly-Bernoulli numbers, which are somehow connected to multiple zeta values. Al-Salam [2] introduced the first qextension of Bernoulli numbers and polynomials and gave many of their properties. The q-extension of Bernoulli numbers and polynomials has now found many applications in combinatoric, statistics and various branches of applied mathematics.

Recently in [9], the authors introduced a new kind of bivariate Bernoulli polynomials and studied their main properties. As a valuable application of these extended polynomials, they introduced an extension of the well-known Euler-Maclaurin quadrature formula. In this paper, we introduce a *q*-extension of the aforesaid bivariate Bernoulli polynomials and establish their properties. Several connection and inversion formulas are stated and proved. In the following section, some preliminaries and definitions are given and in Section 3, a bivariate kind of *q*-Bernoulli polynomias is introduced and some of its basic properties are stated and proved.

#### 2. Preliminaries and definitions

For any complex number a, the basic number and the q-factorial are defined, respectively, by

$$[a]_q = \frac{1 - q^a}{1 - q}, \quad q \neq 1$$
(2.1)

$$[n]_q! = [n]_q[n-1]_q \cdots [1]_q = \prod_{k=1}^n [k]_q, \quad n \in \mathbb{N}, \quad [0]_q! = 1,$$
(2.2)

and the q-Pochhammer is defined as

$$(a;q)_0 = 1, \quad (a;q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad n \in \mathbb{N}.$$
 (2.3)

The limit  $\lim_{n\to\infty} (a;q)_n$  is denoted by  $(a;q)_\infty$ , provided that |q| < 1. Then,

$$(a;q)_n = \frac{(a;q)_\infty}{(aq^n;q)_\infty}, \quad n \in \mathbb{N}_0, \quad |q| < 1,$$
 (2.4)

and for any complex number  $\alpha$ ,

$$(a;q)_{\alpha} = \frac{(a;q)_{\infty}}{(aq^{\alpha};q)_{\infty}}, \quad |q| < 1,$$

$$(2.5)$$

where the principal value of  $q^{\alpha}$  is taken.

The so-called q-power basis (see e.g. [13]) is defined by

$$(x \ominus y)_q^n = \begin{cases} (x - y)(x - yq) \cdots (x - yq^{n-1}) & n = 1, 2, \dots, \\ 1 & n = 0. \end{cases}$$

It should be noted that

$$(x \ominus y)_q^n = x^n \left(\frac{y}{x}, q\right)_n, \quad x \neq 0.$$

The q-binomial coefficient is defined for positive integers n, k, as

$$\begin{bmatrix} n \\ k \end{bmatrix}_{q} = \frac{[n]_{q}!}{[k]_{q}![n-k]_{q}!} = \frac{(q;q)_{n}}{(q;q)_{k}(q;q)_{n-k}} = \begin{bmatrix} n \\ n-k \end{bmatrix}_{q}.$$
 (2.6)

The basic hypergeometric or q-hypergeometric series  $_r\phi_s$  is defined as

$${}_{r}\phi_{s}\left(\begin{array}{c|c}a_{1},\cdots,a_{r}\\b_{1},\cdots,b_{s}\end{array}\middle|q;z\right):=\sum_{n=0}^{\infty}\frac{(a_{1},\cdots,a_{r};q)_{n}}{(b_{1},\cdots,b_{s};q)_{n}}\left((-1)^{n}q^{\binom{k}{2}}\right)^{1+s-r}\frac{z^{n}}{(q;q)_{n}},$$

where  $(a_1, \dots, a_r)_n := (a_1; q)_n \dots (a_r; q)_n$ .

The following so-called q-binomial theorem [12, p. 16] can be written as

$${}_{1}\phi_{0}\left(\begin{array}{c}a\\-\end{array}\middle|q;z\right) = \sum_{n=0}^{\infty} \frac{(a;q)_{n}}{(q;q)_{n}} z^{n} = \frac{(az;q)_{\infty}}{(z;q)_{\infty}}, \quad 0 < |q| < 1, \ |z| < 1.$$
(2.7)

The q-derivative operator is defined by [10, 12, 13]

$$D_q f(x) = \frac{f(x) - f(qx)}{(1 - q)x}, \quad x \neq 0,$$

satisfying the important product rule

$$D_q(f(x)g(x)) = f(x)D_qg(x) + g(qx)D_qf(x).$$
 (2.8)

In this sense, note that when we deal with functions  $f(x_1, x_2, ..., x_n)$  of more than one variable, we denote  $D_q f$  by  $D_{q,x_i} f$  to make clear that the derivative is taken with respect to the variable  $x_i$ .

The q-integral operator is defined by [10, 12]

$$\int_{0}^{z} f(z)d_{q}t = z(1-q)\sum_{k=0}^{\infty} q^{k}f(zq^{k}).$$

This definition can be established based on a simple geometric series.

The usual exponential function may have two different natural q-extensions, denoted by  $e_q(z)$  and  $E_q(z)$ , which are defined, respectively, by

$$e_q(z) := {}_1\phi_0 \left( \begin{array}{c} 0 \\ - \end{array} \middle| q; (1-q)z \right) = \sum_{n=0}^{\infty} \frac{z^n}{[n]_q!}, \quad 0 < |q| < 1, \ |z| < 1,$$
(2.9)

and

$$E_q(z) := {}_0\phi_0 \left( \begin{array}{c} - \\ - \end{array} \middle| q, -(1-q)z \right) = \sum_{n=0}^{\infty} \frac{q^{\binom{n}{2}}}{[n]_q!} z^n, \quad 0 < |q| < 1.$$
(2.10)

It is worth noting that  $e_q(z)$  and  $E_q(z)$  are linked by the well known relation

$$e_q(z)E_q(-z) = 1.$$
 (2.11)

In [16], Schork has studied Ward's "Calculus of Sequences" and introduced a q-addition  $x \oplus_q y$  by

$$(x \oplus_q y)^n = \sum_{k=0}^n \left[ \begin{array}{c} n \\ k \end{array} \right]_q x^k y^{n-k},$$

and although this q-addition was already known to Jackson, it was generalized later on by Ward and Al-Salam. For more informations about different q-additions, see e.g., [6]. Similarly the q-subtraction can be defined in the same way by [11]

$$(x \ominus_q y)^n = \sum_{k=0}^n \begin{bmatrix} n \\ k \end{bmatrix}_q x^k (-y^{n-k}) = (x \oplus_q (-y))^n.$$

By noting (2.9), the following relation holds [6, 11]

$$(\forall x, y \in \mathbb{R}) \qquad e_q(x)e_q(y) = e_q(x \oplus_q y). \tag{2.12}$$

2.1. q-Appell sets, q-Bernoulli polynomials and some related properties

Let  $\{P_n(x)\}_{n=0}^{\infty}$  be a polynomial set, where the polynomial  $P_n(x)$  is of exact degree n.  $\{P_n(x)\}_{n=0}^{\infty}$  is a q-Appell set if

$$D_q P_{n+1}(x) = [n+1]_q P_n(x)$$

Such sets were first introduced by Sharma and Chak [17] and they called them *q*-harmonic.

The following characterization theorem holds in this regard.

**Theorem 2.1** (see [17]). Let  $\{P_n(x)\}$  be a polynomial set. The following assertions are equivalent:

- 1.  $\{P_n(x)\}$  is a q-Appell polynomial set.
- 2. There exists a sequence  $(a_k)_{k\geq 0}$  independent of n;  $a_0 = 1$ , such that

$$P_n(x) = \sum_{k=0}^n a_k \frac{[n]_q!}{[n-k]_q!} x^{n-k}.$$

3.  $\{P_n(x)\}$  is generated by

$$A(t)e_q(xt) = \sum_{n=0}^{\infty} P_n(x) \frac{t^n}{[n]_q!},$$

where

$$A(t) = \sum_{k=0}^{\infty} a_k \frac{t^k}{[k]_q!}, \quad a_0 = 1.$$

The *q*-Bernoulli polynomials are essentially defined by the generating function [2]

$$\frac{te_q(xt)}{e_q(t) - 1} = \sum_{n=0}^{\infty} B_{n,q}(x) \frac{t^n}{[n]_q},$$

in which

$$B_{n,q}(x) = \sum_{k=0}^{n} \begin{bmatrix} n \\ k \end{bmatrix}_{q} B_{k,q} x^{n-k},$$

where the  $B_{k,q} = B_{k,q}(1)$  stands for the k-th q-Bernoulli numbers (see also a determinant approach to q-Bessel polynomials in [15]). It is not difficult to see that since

$$D_q B_{n,q}(x) = [n]_q B_{n-1,q}(x),$$

q-Bernoulli polynomials belong to q-Appell set.

# 3. A bivariate kind of q-Bernoulli polynomials

Let  $x, y \in \mathbb{R}$ . It is well-known that the Taylor expansion of the two functions  $e^{xt} \cos yt$  and  $e^{xt} \sin yt$  are as follows [9]

$$e^{xt}\cos yt = \sum_{k=0}^{\infty} C_k(x,y)\frac{t^k}{k!},$$
(3.1)

and

$$e^{xt}\sin yt = \sum_{k=0}^{\infty} S_k(x,y) \frac{t^k}{k!},$$
 (3.2)

where

$$C_k(x,y) = \sum_{j=0}^{\left[\frac{k}{2}\right]} (-1)^j \binom{k}{2j} x^{k-2j} y^{2j},$$
(3.3)

and

$$S_k(x,y) = \sum_{j=0}^{\left[\frac{k-1}{2}\right]} (-1)^j \binom{k}{2j+1} x^{k-2j-1} y^{2j+1}.$$
(3.4)

Here we introduce a q-extension of the two above polynomials  $C_k(x, y)$  and  $S_k(x, y)$  as follows:

**Theorem 3.1.** Let  $x, y \in \mathbb{R}$ . Then the generating functions

$$e_q(xt)\cos_q yt = \sum_{k=0}^{\infty} C_{k,q}(x,y) \frac{t^k}{[k]_q!}$$
 (3.5)

and

$$e_q(xt)\sin_q yt = \sum_{k=0}^{\infty} S_{k,q}(x,y) \frac{t^k}{[k]_q!}$$
(3.6)

hold, such that

$$C_{k,q}(x,y) = \sum_{j=0}^{\left[\frac{k}{2}\right]} (-1)^{j} \left[\frac{k}{2j}\right]_{q} x^{k-2j} y^{2j}$$
(3.7)

and

$$S_{k,q}(x,y) = \sum_{j=0}^{\left[\frac{k-1}{2}\right]} (-1)^{j} \left[\frac{k}{2j+1}\right]_{q} x^{k-2j-1} y^{2j+1}.$$
 (3.8)

PROOF. Since

$$\cos_q(z) = \sum_{n=0}^{\infty} \frac{(-1)^n z^{2n}}{[2n]_q!} = \sum_{n=0}^{\infty} \frac{1 + (-1)^n}{2[n]_q!} (iz)^n,$$

we have

$$e_q(xt)\cos_q(yt) = \left(\sum_{n=0}^{\infty} \frac{(xt)^n}{[n]_q!}\right) \left(\sum_{n=0}^{\infty} \frac{1+(-1)^n}{2[n]_q!} (iyt)^n\right)$$
  
$$= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n {n \brack k}_q \frac{1+(-1)^k}{2} (iy)^k x^{n-k}\right) \frac{t^n}{[n]_q!}$$
  
$$= \sum_{n=0}^{\infty} \left(\sum_{j=0}^{\left\lfloor\frac{k}{2}\right\rfloor} (-1)^j {n \brack k}_q x^{k-2j} y^{2j}\right) \frac{t^n}{[n]_q!},$$

which proves (3.5). The proof of (3.6) is similar. The following series manipulation holds true

$$\left(\sum_{k=0}^{\infty} a_k \frac{t^k}{[k]_q!}\right) \left(\sum_{k=0}^{\infty} b_k \frac{t^k}{[k]_q!}\right) = \sum_{k=0}^{\infty} \left(\sum_{j=0}^k \left[ \begin{array}{c} k\\ j \end{array} \right]_q a_j b_{k-j} \right) \frac{t^k}{[k]_q!}.$$
 (3.9)

# Proposition 3.1. The following derivative rules are valid

$$D_{q,x}C_{k,q}(x,y) = [k]_q C_{k-1,q}(x,y), \qquad (3.10)$$

$$D_{q,y}C_{k,q}(x,y) = -[k]_q S_{k-1,q}(x,y), \qquad (3.11)$$

$$D_{q,x}S_{k,q}(x,y) = [k]_q S_{k-1,q}(x,y), \qquad (3.12)$$

$$D_{q,y}S_{k,q}(x,y) = [k]_q C_{k-1,q}(x,y).$$
(3.13)

PROOF. Relation (3.5) yields

$$\sum_{n=1}^{\infty} D_{q,x} C_{n,q}(x,y) \frac{t^n}{[n]_q!} = te_q(xt) \cos_q yt = \sum_{n=0}^{\infty} C_{n,q}(x,y) \frac{t^{n+1}}{[n]_q!}$$
$$= \sum_{n=1}^{\infty} C_{n-1,q}(x,y) \frac{t^n}{[n-1]_q!}$$
$$= \sum_{n=0}^{\infty} [n]_q C_{n-1,q}(x,y) \frac{t^n}{[n]_q!},$$

proving (3.10). The other equalities (3.11), (3.12) and (3.13) can be similarly proved.

Proposition 3.2. The following identities hold

$$C_{k,q}(x,y) = \sum_{k=0}^{n} \begin{bmatrix} k \\ j \end{bmatrix}_{q} C_{j,q}(x,0)x^{k},$$
  
$$S_{k,q}(x,y) = \sum_{k=0}^{n} \begin{bmatrix} k \\ j \end{bmatrix}_{q} S_{j,q}(x,0)x^{k},$$

and are straightforward to prove.

Proposition 3.3. The following power representations hold

$$y^{2n} = \sum_{k=0}^{2n} (-1)^{n-k} q^{\binom{k}{2}} \begin{bmatrix} 2n\\k \end{bmatrix}_q C_{2n-k,q}(x,y) x^k,$$
(3.14)

and

$$y^{2n+1} = \sum_{k=0}^{2n+1} (-1)^{n-k} q^{\binom{k}{2}} \left[ \frac{2n+1}{k} \right]_q S_{2n+1-k,q}(x,y) x^k.$$
(3.15)

PROOF. Multiplying both sides of (3.5) by  $E_q(-xt)$  and using (2.11), it follows that

$$\begin{split} \sum_{n=0}^{\infty} (-1)^n y^{2n} \frac{t^{2n}}{[n]_q!} &= \left( \sum_{n=0}^{\infty} q^{\binom{n}{2}} \frac{(-x)^n t^n}{[n]_q!} \right) \left( \sum_{n=0}^{\infty} C_{n,q}(x,y) \frac{t^n}{[n]_q!} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n (-1)^k q^{\binom{k}{2}} \begin{bmatrix} n\\ k \end{bmatrix}_q C_{n-k,q}(x,y) x^k \right) \frac{t^n}{[n]_q!}, \end{split}$$

which proves (3.14). The proof of (3.15) is similar.

We can now introduce two kinds of bivariate q-Bernoulli polynomials as

$$\frac{te_q(xt)}{e_q(t) - 1}\cos_q(yt) = \sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q!},$$
(3.16)

and

$$\frac{te_q(xt)}{e_q(t) - 1}\sin_q(yt) = \sum_{n=0}^{\infty} B_{n,q}^{(s)}(x,y)\frac{t^n}{[n]_q!},$$
(3.17)

and give some basic properties of them in the sequel.

**Proposition 3.4.**  $B_{n,q}^{(c)}(x,y)$  and  $B_{n,q}^{(s)}(x,y)$  can be represented in terms of *q*-Bernoulli numbers as follows

$$B_{n,q}^{(c)}(x,y) = \sum_{k=0}^{n} \begin{bmatrix} n \\ k \end{bmatrix}_{q} B_{k} C_{n-k,q}(x,y),$$
(3.18)

and

$$B_{n,q}^{(s)}(x,y) = \sum_{k=0}^{n} {n \brack k}_{q} B_{k} S_{n-k,q}(x,y), \qquad (3.19)$$

PROOF. Using the relation (3.9), we have

$$\sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q!} = \frac{t}{e_q(t) - 1} e_q(xt) \cos_q(yt)$$
$$= \left(\sum_{k=0}^{\infty} B_k \frac{t^k}{[k]_q!}\right) \left(\sum_{k=0}^{\infty} C_{k,q}(x,y) \frac{t^k}{[k]_q!}\right)$$
$$= \sum_{k=0}^{\infty} \left(\sum_{j=0}^k {k \choose j}_q B_{j,q} C_{k-j,q}(x,y) \right) \frac{t^k}{[k]_q!},$$

which proves (3.18). The proof of (3.19) is similar.

Similiarly, we can prove that

$$B_{n,q}^{(c)}(x,y) = \sum_{k=0}^{\left[\frac{n}{2}\right]} (-1)^k \left[\frac{n}{k}\right]_q B_{n-2k}(x) y^{2k},$$
(3.20)

and

$$B_{n,q}^{(s)}(x,y) = \sum_{k=0}^{\left[\frac{n-1}{2}\right]} (-1)^k \left[\frac{n}{2k+1}\right]_q B_{n-2k-1,q}(x) y^{2k+1}.$$
 (3.21)

Equality (3.20) follows since

$$\sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q} = \frac{te_q(xt)}{e_q(t) - 1} \cos_q(yt),$$

i.e.,

$$\sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q} = \left( \sum_{n=0}^{\infty} B_{n,q}(x) \frac{t^n}{[n]_q!} \right) \left( \sum_{n=0}^{\infty} \frac{1 + (-1)^n}{2[n]_q!} (iyt)^n \right)$$
$$= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \left[ \begin{array}{c} n \\ k \end{array} \right]_q \frac{1 + (-1)^k}{2} (iy)^k B_{n-k,q}(x) \right) \frac{t^n}{[n]_q!}$$
$$= \sum_{n=0}^{\infty} \left( \sum_{k=0}^{\left[ \frac{n}{2} \right]} (-1)^k \left[ \begin{array}{c} n \\ k \end{array} \right]_q B_{n-2k}(x) y^{2k} \right) \frac{t^n}{[n]_q!}.$$

The proof of (3.21) is similar.

**Proposition 3.5.** The polynomials  $C_{n,q}(x,y)$  and  $S_{n,q}(x,y)$  can be represented in terms of the polynomials  $B_{n,q}^{(c)}(x,y)$  and  $B_{n,q}^{(s)}(x,y)$  as follows

$$C_{n,q}(x,y) = \sum_{k=0}^{n} \frac{1}{[k+1]_q} \begin{bmatrix} n\\k \end{bmatrix}_q B_{n-k}^{(c)}(x,y),$$
(3.22)

and

$$S_{n,q}(x,y) = \sum_{k=0}^{n} \frac{1}{[k+1]_q} \begin{bmatrix} n \\ k \end{bmatrix}_q B_{n-k,q}^{(s)}(x,y).$$
(3.23)

PROOF. From (3.16), we have

$$\sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q!} = \frac{t}{e_q(t) - 1} e_q(xt) \cos_q(yt)$$
$$= \frac{t}{e_q(t) - 1} \sum_{n=0}^{\infty} C_{n,q}(x,y) \frac{t^n}{[n]_q!}.$$

Hence, it follows that

$$\begin{split} \sum_{n=0}^{\infty} C_{n,q}(x,y) \frac{t^n}{[n]_q!} &= \frac{e_q(t) - 1}{t} \sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q!} \\ &= \left( \sum_{n=0}^{\infty} \frac{1}{[n+1]_q} \frac{t^n}{[n]_q!} \right) \left( \sum_{n=0}^{\infty} B_{n,q}^{(c)}(x,y) \frac{t^n}{[n]_q!} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \frac{1}{[k+1]_q} \begin{bmatrix} n \\ k \end{bmatrix}_q B_{n-k}^{(c)}(x,y) \right) \frac{t^n}{[n]_q!} \end{split}$$

and (3.22) follows. The proof of (3.23) is similar.

**Proposition 3.6.** For every  $n \in \mathbb{N}$ , the following identities hold

$$B_{n,q}^{(c)}((1\oplus_q x), y) - B_{n,q}^{(c)}(x, y) = [n]_q C_{n-1,q}(x, y),$$
(3.24)

$$B_{n,q}^{(s)}((1\oplus_q x), y) - B_{n,q}^{(s)}(x, y) = [n]_q S_{n-1,q}(x, y).$$
(3.25)

PROOF. We have

$$\begin{split} \sum_{n=0}^{\infty} B_{n,q}^{(c)}((1 \oplus_q x), y) \frac{t^n}{[n]_q!} &= \frac{te_q((1 \oplus_q x)t)}{e_q(t) - 1} \cos_q(yt) \\ &= \frac{te_q(xt)[e_q(t) - 1 + 1]}{e_q(t) - 1} \cos_q(yt) \\ &= te_q(xt) \cos_q(yt) + \frac{te_q(xt)}{e_q(t) - 1} \cos_q(yt) \\ &= \sum_{n=0}^{\infty} C_{n,q}(x, y) \frac{t^{n+1}}{[n]_q!} + \sum_{n=0}^{\infty} B_{n,q}^{(c)}(x, y) \frac{t^n}{[n]_q!}, \end{split}$$

which proves (3.24). Eq. (3.25) is proved similarly.

Corollary 3.1. The following relations hold

$$B_{2n+1,q}^{(c)}(1,y) - B_{2n+1}^{(c)}(0,y) = [2n+1]_q(-1)^n y^{2n},$$
  
$$B_{2n,q}^{(s)}(1,y) - B_{2n}^{(s)}(0,y) = [2n]_q(-1)^{n+1} y^{2n-1}.$$

PROOF. If we replace n by 2n + 1 in (3.24), and x by 0, we obtain

$$B_{2n+1,q}^{(c)}(1,y) - B_{2n+1,q}^{(c)}(0,y) = [n]_q C_{2n,q}(0,y).$$

The first relation is proved since from (3.7) we have  $C_{2n,q}(0,y) = (-1)^n y^{2n}$ . The second relation is proved similarly.

**Proposition 3.7.** For every  $n \in \mathbb{N}$ , the following identities hold

$$B_{n,q}^{(c)}((x \oplus_q z), y) = \sum_{k=0}^n \left[ \begin{array}{c} n\\ k \end{array} \right]_q B_{k,q}^{(c)}(x, y) z^{n-k},$$
(3.26)

and

$$B_{n,q}^{(s)}((x \oplus_q z), y) = \sum_{k=0}^n \begin{bmatrix} n\\k \end{bmatrix}_q B_{k,q}^{(s)}(x, y) z^{n-k}.$$
 (3.27)

PROOF. We have

$$\begin{split} \sum_{n=0}^{\infty} B_{n,q}^{(c)}((x \oplus_{q} z), y) \frac{t^{n}}{[n]_{q}!} &= \frac{te_{q}((x \oplus_{q} z)t)}{e_{q}(t) - 1} \cos_{q}(yt) \\ &= \frac{te_{q}(xt)}{e_{q}(t) - 1} \cos_{q}(t) \times e_{q}(zt) \\ &= \sum_{n=0}^{\infty} B_{n,q}^{(c)}(x, y) \frac{t^{n}}{[n]_{q}!} \sum_{n=0}^{\infty} \frac{(tz)^{n}}{[n]_{q}!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^{n} {n \brack k}_{q} B_{k,q}^{(c)}(x, y) z^{n-k} \right) \frac{t^{n}}{[n]_{q}!}, \end{split}$$

which proves (3.26). The proof of (3.27) is similar.

Proposition 3.8. The following equations can be concluded

$$\sum_{k=0}^{n} \left[ \begin{array}{c} n+1\\ k \end{array} \right]_{q} B_{k,q}^{(c)}(x,y) = [n+1]_{q} C_{n,q}(x,y), \qquad (3.28)$$

$$\sum_{k=0}^{n} \left[ \begin{array}{c} n+1\\ k \end{array} \right]_{q} B_{k,q}^{(s)}(x,y) = [n+1]_{q} S_{n,q}(x,y).$$
(3.29)

PROOF. From (3.26), we have

$$B_{n+1,q}^{(c)}((x\oplus_q 1), y) - B_{n+1}^{(c)}(x, y) = \sum_{k=0}^n \left[ \begin{array}{c} n+1\\k \end{array} \right]_q B_{k,q}^{(c)}(x, y).$$

Hence, by using (3.24), relation (3.28) is derived. The proof of (3.29) is concluded in a similar way.

Corollary 3.2. Relations (3.28) and (3.29) imply that

$$\sum_{k=0}^{n} \left[ \begin{array}{c} n+1 \\ k \end{array} \right]_{q} B_{n,k}^{(c)}(0,y) = \begin{cases} (-1)^{m} [2m+1]_{q} y^{2m} & \text{if } n=2m \quad \text{is odd}, \\ 0 & \text{if } n=2m+1 \quad \text{is even}, \end{cases}$$

and

$$\sum_{k=0}^{n} \left[ \begin{array}{cc} n+1 \\ k \end{array} \right]_{q} B_{n,k}^{(s)}(0,y) = \begin{cases} 0 & \text{if } n=2m \quad \text{is odd}, \\ (-1)^{m} [2m+2]_{q} y^{2m+1} & \text{if } n=2m+1 \quad \text{is even}, \end{cases}$$

**Corollary 3.3.** For every  $n \in \mathbb{N}$ , the following partial q-differential equations hold

$$D_{q,x}B_{n,q}^{(c)}(x,y) = [n]_q B_{n-1,q}^{(c)}(x,y),$$
  

$$D_{q,y}B_{n,q}^{(c)}(x,y) = -[n]_q B_{n-1,q}^{(c)}(x,y),$$
  

$$D_{q,x}B_{n,q}^{(s)}(x,y) = [n]_q B_{n-1,q}^{(s)}(x,y),$$

and

$$D_{q,y}B_{n,q}^{(c)}(x,y) = [n]_q B_{n-1,q}^{(s)}(x,y).$$

Corollary 3.4. The following equalities are valid

$$\int_0^1 B_{2n,q}^{(c)}(x,y) d_q x = (-1)^n q^{2n},$$
$$\int_0^1 B_{2n+1,q}^{(s)}(x,y) d_q x = (-1)^n q^{2n+1},$$

which are proved by combining Proposition 3.3 and Corollary 3.1 using the definition of the q-integral.

### Acknowledgments

The work of the first author has been supported by the University of Kassel. The work of the third author is supported by Alexander von Humboldt Foundation under the grant number: Ref 3.4 - IRN - 1128637 - GF-E.

#### REFERENCES

- F. Avram, M.S. Taqqu, Noncentral limit theorems and Appell polynomials, Ann. Probab. 15 (2) (1987), 767–775.
- [2] W.A. Al-Salam, *q-Bernoulli numbers and polynomials*, Math. Nachr. 17 (1959), 239–260.
- [3] W.A. Al-Salam, q-Appell polynomials, Ann. Mat. Pura Appl. 77 4 (1967), 31-45.
- [4] P. Appell, Sur une classe de polynômes, Anna. Sci. École Norm. Sup. 9 (2) (1880), 119–144.
- [5] L. Comtet, Advanced Combinatorics, Reidel, Dordrecht, 1974.
- [6] T. Ernst, *A Comprehensive Treatment of q-Calculus*, Birkhäuser/Springer Basel AG, Basel, 2012.

- [7] R.L. Graham, D.E. Knuth, O. Patashnik, *Concrete Mathematics*, 2<sup>nd</sup> edition, Addison-Wesley, Reading, 1994.
- [8] G. Hetyei, Enumeration by kernel positions for strongly Bernoulli type truncation games on words, J. Combin. Theory Ser. A 117 (2010), 1107–1126.
- [9] M. Masjed-Jamei, M. R. Beyki, W. Koepf, An extension of the Euler-Maclaurin quadrature formula using a parametric type of Bernoulli polynomials, Bull. Sci. Math. 156 (2019), 102798, 26 pp.
- [10] V. Kac, P. Cheung, *Quantum Calculus*, Springer-Verlag, New York, 2002.
- [11] T. Kim, *q-extension of the Euler formula and trigonometric functions*, Russ. J. Math. Phys, **14** (3), (2007), 275–278.
- [12] R. Koekoek, P.A. Lesky, R.F. Swarttouw, Hypergeometric Orthogonal Polynomials and Their q-Analogues, Springer, Berlin, 2010.
- [13] P. Njionou Sadjang, W. Koepf, M. Fouppuagnigni, On moments of classical orthogonal polynomials, J. Math. Anal. Appl. 424 (2015), 122–151.
- [14] H. Pan, Zhi-Wei Sun, New identities involving Bernoulli and Euler polynomials, J. Combin. Theory Ser. A 113 (1) (2006), 156–175.
- [15] M. Riyasat, S. Khan, A determinant approach to q-Bessel polynomials and applications, Rev. R. Acad. de Cienc. Exactas Fís Nat. Ser. A Math. RACSAM 113 (2) (2019), 1571–1583.
- [16] M. Schork, Wards "calculus of sequences", q-calculus and the limit  $q \rightarrow -1$ , Adv. Stud. Contemp. Math. (Kyungshang) **13** (2) (2006), 131–141.
- [17] A. Sharma, A. Chak, *The basic analogue of a class of polynomials*, Revisita di Matematica della Università di Parma, 5(1954), 15–38.
- [18] P. Tempesta, Formal groups, Bernoulli-type polynomials and L-series, C. R. Math. Acad. Sci. Paris, 345 (2007), 303–306.

Faculty of Industrial Engineering University of Douala Tel.: +237 677 034 787 Douala, Cameroon e-mail: pnjionou@yahoo.fr

Institute of Mathematics University of Kassel Heinrich-Plett Str. 40 34132 Kassel, Germany e-mail: koepf@mathematik.uni-kassel.de

Demartement of Mathematics K. N. Toosi University of Technology P.O. Box 16315-1618 Tehran, Iran e-mail: mmjamei@kntu.ac.ir